



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025121

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
060 MA 110 F088301C	060-A-NFA	104055	MARICOPA	NORTHWEST		11	Rene Teran

Highway Termini	Location	Work Description
• WICKENBURG - PHOENIX HIGHWAY (US 60)	• MORRISTOWN TO WICKENBURG NB PA	• System Preservation (Restoration/Rehab/Resurface)

BID RESULTS FOR 2025121

Bid Opening Date : 1/30/2026, Prequalification Required, Engineer Specialist : Rene Teran

Completion Date:

80 Working Days

The proposed project is located within Maricopa County and is on US Route 60 (US 60). This planned project is located within the Arizona Dept. of Transportation Northwest District and Central District and will repair existing pavement distresses between Wickenburg, AZ (MP 110.59) and Morristown AZ (MP 121.50). Proposed work consists of milling and replacing AC pavement, installing pavement markings and other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$2,508,766.00	DEPARTMENT ESTIMATE	\$2,508,766.00
1	-41.9%		\$1,456,757.00	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$1,456,757.00
2	-35.3%		\$1,623,605.20	PAVECO, INC. P.O. BOX 1067 SUN CITY, AZ 85372-	\$1,623,605.20
3	-29.8%		\$1,759,931.65	CACTUS TRANSPORT II, LLC. 8211 WEST SHERMAN STREET TOLLESON, AZ 85353-	\$1,759,931.65
4	-29.4%		\$1,770,622.80	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$1,770,622.80
5	-12.6%		\$2,193,186.00	EARTH RESOURCES CORPORATION 300 S. LATILLA LANE DEWEY, AZ 86327-	\$2,193,186.00

Winning Bidder is 41.9% Under Department Estimate (Difference = (\$1,052,009.00))

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020083	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (2")				
Bid Rank	Department Estimate		63,385.000	\$3.000	\$190,155.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2.650	\$167,970.25	-11.7%
2	PAVECO, INC.			\$1.700	\$107,754.50	-43.3%
3	CACTUS TRANSPORT II, LLC.			\$2.150	\$136,277.75	-28.3%
4	FNF CONSTRUCTION, INC.			\$2.000	\$126,770.00	-33.3%
5	EARTH RESOURCES CORPORATION			\$3.450	\$218,678.25	+15.0%
4040076	TON	EMULSIFIED ASPHALT (MICRO-SURFACING)				
Bid Rank	Department Estimate		124.000	\$1,000.000	\$124,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$767.000	\$95,108.00	-23.3%
2	PAVECO, INC.			\$905.000	\$112,220.00	-9.5%
3	CACTUS TRANSPORT II, LLC.			\$878.000	\$108,872.00	-12.2%
4	FNF CONSTRUCTION, INC.			\$1,200.000	\$148,800.00	+20.0%
5	EARTH RESOURCES CORPORATION			\$847.000	\$105,028.00	-15.3%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		16.000	\$900.000	\$14,400.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$500.000	\$8,000.00	-44.4%
2	PAVECO, INC.			\$455.000	\$7,280.00	-49.4%
3	CACTUS TRANSPORT II, LLC.			\$400.000	\$6,400.00	-55.6%
4	FNF CONSTRUCTION, INC.			\$480.000	\$7,680.00	-46.7%
5	EARTH RESOURCES CORPORATION			\$1,073.000	\$17,168.00	+19.2%
4040116	HOURL	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		35.000	\$300.000	\$10,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$250.000	\$8,750.00	-16.7%
2	PAVECO, INC.			\$500.000	\$17,500.00	+66.7%
3	CACTUS TRANSPORT II, LLC.			\$400.000	\$14,000.00	+33.3%
4	FNF CONSTRUCTION, INC.			\$270.000	\$9,450.00	-10.0%
5	EARTH RESOURCES CORPORATION			\$283.000	\$9,905.00	-5.7%
4040172	TON	DRY MINERAL AGGREGATE (MICRO-SURFACING) (TYPE III)				
Bid Rank	Department Estimate		952.000	\$250.000	\$238,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$120.000	\$114,240.00	-52.0%
2	PAVECO, INC.			\$140.000	\$133,280.00	-44.0%
3	CACTUS TRANSPORT II, LLC.			\$131.000	\$124,712.00	-47.6%
4	FNF CONSTRUCTION, INC.			\$187.000	\$178,024.00	-25.2%
5	EARTH RESOURCES CORPORATION			\$335.000	\$318,920.00	+34.0%
4160003	TON	ASPHALTIC CONCRETE (1/2" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		6,989.000	\$180.000	\$1,258,020.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$107.500	\$751,317.50	-40.3%
2	PAVECO, INC.			\$111.000	\$775,779.00	-38.3%

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4160003	TON	ASPHALTIC CONCRETE (1/2" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank		Department Estimate	6,989.000	\$180.000	\$1,258,020.00	
3		CACTUS TRANSPORT II, LLC.		\$131.000	\$915,559.00	-27.2%
4		FNF CONSTRUCTION, INC.		\$125.750	\$878,866.75	-30.1%
5		EARTH RESOURCES CORPORATION		\$130.000	\$908,570.00	-27.8%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank		Department Estimate	4,964.000	\$1.000	\$4,964.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.220	\$1,092.08	-78.0%
2		PAVECO, INC.		\$0.250	\$1,241.00	-75.0%
3		CACTUS TRANSPORT II, LLC.		\$1.000	\$4,964.00	+0.0%
4		FNF CONSTRUCTION, INC.		\$0.200	\$992.80	-80.0%
5		EARTH RESOURCES CORPORATION		\$0.430	\$2,134.52	-57.0%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank		Department Estimate	69.000	\$2.000	\$138.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.550	\$37.95	-72.5%
2		PAVECO, INC.		\$0.600	\$41.40	-70.0%
3		CACTUS TRANSPORT II, LLC.		\$1.500	\$103.50	-25.0%
4		FNF CONSTRUCTION, INC.		\$0.400	\$27.60	-80.0%
5		EARTH RESOURCES CORPORATION		\$3.850	\$265.65	+92.5%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank		Department Estimate	115.000	\$1.000	\$115.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.330	\$37.95	-67.0%
2		PAVECO, INC.		\$0.400	\$46.00	-60.0%
3		CACTUS TRANSPORT II, LLC.		\$1.500	\$172.50	+50.0%
4		FNF CONSTRUCTION, INC.		\$0.350	\$40.25	-65.0%
5		EARTH RESOURCES CORPORATION		\$4.750	\$546.25	+375.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank		Department Estimate	1,733.000	\$2.000	\$3,466.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$1.380	\$2,391.54	-31.0%
2		PAVECO, INC.		\$1.400	\$2,426.20	-30.0%
3		CACTUS TRANSPORT II, LLC.		\$1.000	\$1,733.00	-50.0%
4		FNF CONSTRUCTION, INC.		\$1.400	\$2,426.20	-30.0%
5		EARTH RESOURCES CORPORATION		\$1.920	\$3,327.36	-4.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank		Department Estimate	1,194.000	\$1.000	\$1,194.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.170	\$202.98	-83.0%
2		PAVECO, INC.		\$0.200	\$238.80	-80.0%
3		CACTUS TRANSPORT II, LLC.		\$0.700	\$835.80	-30.0%
4		FNF CONSTRUCTION, INC.		\$0.250	\$298.50	-75.0%

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank		Department Estimate	1,194.000	\$1.000	\$1,194.00	
5		EARTH RESOURCES CORPORATION		\$0.460	\$549.24	-54.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank		Department Estimate	5,148.000	\$1.000	\$5,148.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.170	\$875.16	-83.0%
2		PAVECO, INC.		\$0.200	\$1,029.60	-80.0%
3		CACTUS TRANSPORT II, LLC.		\$0.700	\$3,603.60	-30.0%
4		FNF CONSTRUCTION, INC.		\$0.150	\$772.20	-85.0%
5		EARTH RESOURCES CORPORATION		\$0.400	\$2,059.20	-60.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank		Department Estimate	31.000	\$500.000	\$15,500.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$300.000	\$9,300.00	-40.0%
2		PAVECO, INC.		\$305.000	\$9,455.00	-39.0%
3		CACTUS TRANSPORT II, LLC.		\$1,000.000	\$31,000.00	+100.0%
4		FNF CONSTRUCTION, INC.		\$275.000	\$8,525.00	-45.0%
5		EARTH RESOURCES CORPORATION		\$1,225.000	\$37,975.00	+145.0%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank		Department Estimate	437.000	\$1.200	\$524.40	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.440	\$192.28	-63.3%
2		PAVECO, INC.		\$0.450	\$196.65	-62.5%
3		CACTUS TRANSPORT II, LLC.		\$2.000	\$874.00	+66.7%
4		FNF CONSTRUCTION, INC.		\$0.500	\$218.50	-58.3%
5		EARTH RESOURCES CORPORATION		\$0.800	\$349.60	-33.3%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank		Department Estimate	757.000	\$1.400	\$1,059.80	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.440	\$333.08	-68.6%
2		PAVECO, INC.		\$0.450	\$340.65	-67.9%
3		CACTUS TRANSPORT II, LLC.		\$2.000	\$1,514.00	+42.9%
4		FNF CONSTRUCTION, INC.		\$0.500	\$378.50	-64.3%
5		EARTH RESOURCES CORPORATION		\$1.150	\$870.55	-17.9%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank		Department Estimate	29.000	\$50.000	\$1,450.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$16.520	\$479.08	-67.0%
2		PAVECO, INC.		\$17.000	\$493.00	-66.0%
3		CACTUS TRANSPORT II, LLC.		\$25.000	\$725.00	-50.0%
4		FNF CONSTRUCTION, INC.		\$15.000	\$435.00	-70.0%
5		EARTH RESOURCES CORPORATION		\$47.000	\$1,363.00	-6.0%

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		290.000	\$55.000	\$15,950.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$40.000	\$11,600.00	-27.3%
2		PAVECO, INC.		\$40.000	\$11,600.00	-27.3%
3		CACTUS TRANSPORT II, LLC.		\$95.000	\$27,550.00	+72.7%
4		FNF CONSTRUCTION, INC.		\$37.500	\$10,875.00	-31.8%
5		EARTH RESOURCES CORPORATION		\$74.000	\$21,460.00	+34.5%
7016075	HOOR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		132.000	\$60.000	\$7,920.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$55.000	\$7,260.00	-8.3%
2		PAVECO, INC.		\$53.000	\$6,996.00	-11.7%
3		CACTUS TRANSPORT II, LLC.		\$65.000	\$8,580.00	+8.3%
4		FNF CONSTRUCTION, INC.		\$50.000	\$6,600.00	-16.7%
5		EARTH RESOURCES CORPORATION		\$48.000	\$6,336.00	-20.0%
7016081	HOOR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		150.000	\$125.000	\$18,750.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$118.000	\$17,700.00	-5.6%
2		PAVECO, INC.		\$107.000	\$16,050.00	-14.4%
3		CACTUS TRANSPORT II, LLC.		\$160.000	\$24,000.00	+28.0%
4		FNF CONSTRUCTION, INC.		\$105.000	\$15,750.00	-16.0%
5		EARTH RESOURCES CORPORATION		\$135.000	\$20,250.00	+8.0%
7016082	HOOR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		130.000	\$125.000	\$16,250.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$118.000	\$15,340.00	-5.6%
2		PAVECO, INC.		\$107.000	\$13,910.00	-14.4%
3		CACTUS TRANSPORT II, LLC.		\$160.000	\$20,800.00	+28.0%
4		FNF CONSTRUCTION, INC.		\$125.000	\$16,250.00	+0.0%
5		EARTH RESOURCES CORPORATION		\$0.860	\$111.80	-99.3%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		33,390.000	\$1.000	\$33,390.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.450	\$15,025.50	-55.0%
2		PAVECO, INC.		\$0.600	\$20,034.00	-40.0%
3		CACTUS TRANSPORT II, LLC.		\$0.500	\$16,695.00	-50.0%
4		FNF CONSTRUCTION, INC.		\$0.350	\$11,686.50	-65.0%
5		EARTH RESOURCES CORPORATION		\$0.860	\$28,715.40	-14.0%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		66,765.000	\$1.000	\$66,765.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.450	\$30,044.25	-55.0%
2		PAVECO, INC.		\$0.600	\$40,059.00	-40.0%

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank		Department Estimate	66,765.000	\$1.000	\$66,765.00	
3		CACTUS TRANSPORT II, LLC.		\$0.500	\$33,382.50	-50.0%
4		FNF CONSTRUCTION, INC.		\$0.400	\$26,706.00	-60.0%
5		EARTH RESOURCES CORPORATION		\$0.850	\$56,750.25	-15.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank		Department Estimate	1,056.000	\$6.000	\$6,336.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$3.250	\$3,432.00	-45.8%
2		PAVECO, INC.		\$2.850	\$3,009.60	-52.5%
3		CACTUS TRANSPORT II, LLC.		\$4.000	\$4,224.00	-33.3%
4		FNF CONSTRUCTION, INC.		\$3.500	\$3,696.00	-41.7%
5		EARTH RESOURCES CORPORATION		\$3.900	\$4,118.40	-35.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank		Department Estimate	44,520.000	\$0.500	\$22,260.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.120	\$5,342.40	-76.0%
2		PAVECO, INC.		\$0.120	\$5,342.40	-76.0%
3		CACTUS TRANSPORT II, LLC.		\$0.100	\$4,452.00	-80.0%
4		FNF CONSTRUCTION, INC.		\$0.100	\$4,452.00	-80.0%
5		EARTH RESOURCES CORPORATION		\$0.150	\$6,678.00	-70.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank		Department Estimate	89,020.000	\$0.500	\$44,510.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$0.120	\$10,682.40	-76.0%
2		PAVECO, INC.		\$0.120	\$10,682.40	-76.0%
3		CACTUS TRANSPORT II, LLC.		\$0.100	\$8,902.00	-80.0%
4		FNF CONSTRUCTION, INC.		\$0.100	\$8,902.00	-80.0%
5		EARTH RESOURCES CORPORATION		\$0.150	\$13,353.00	-70.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank		Department Estimate	1.000	\$300,000.000	\$300,000.00	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$140,002.600	\$140,002.60	-53.3%
2		PAVECO, INC.		\$190,000.000	\$190,000.00	-36.7%
3		CACTUS TRANSPORT II, LLC.		\$170,000.000	\$170,000.00	-43.3%
4		FNF CONSTRUCTION, INC.		\$212,000.000	\$212,000.00	-29.3%
5		EARTH RESOURCES CORPORATION		\$332,102.000	\$332,102.00	+10.7%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank		Department Estimate	1.000	\$55,000.800	\$55,000.80	
1		SUNLAND ASPHALT & CONSTRUCTION LLC		\$15,000.000	\$15,000.00	-72.7%
2		PAVECO, INC.		\$68,000.000	\$68,000.00	+23.6%
3		CACTUS TRANSPORT II, LLC.		\$40,000.000	\$40,000.00	-27.3%
4		FNF CONSTRUCTION, INC.		\$50,000.000	\$50,000.00	-9.1%

*** Bid Tabs for Proposal Pamphlet 2025121 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$55,000.800	\$55,000.80	
5	EARTH RESOURCES CORPORATION			\$30,219.000	\$30,219.00	-45.1%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$53,000.000	\$53,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$25,000.000	\$25,000.00	-52.8%
2	PAVECO, INC.			\$68,600.000	\$68,600.00	+29.4%
3	CACTUS TRANSPORT II, LLC.			\$50,000.000	\$50,000.00	-5.7%
4	FNF CONSTRUCTION, INC.			\$40,000.000	\$40,000.00	-24.5%
5	EARTH RESOURCES CORPORATION			\$45,382.530	\$45,382.53	-14.4%